


MONTH महीना TOTAL NO. OF 

GRADUATE 

MALE+ 

FEMALEस्नातक 

पुरुष + महहला की

कुल संख्या

RATIO OF POST 

GRADUATE TO 

GRADUATE 

स्नातकोत्तर से स्नातक 

का अनुपात

NO. OF MALE 

GIVING 

BANKING EXAM         

बैंहकंग परीक्षा देने वाले 

पुरुष की संख्या

JANUARY 6200 6:5 3500

FEBRUARY 4500 4:5 3400

MARCH 3400 7:5 4200

APRIL 2500 4:5 4000

MAY 4600 3:4 4200



Question 1- No. of person giving bank exam in January is approximate what 

percent more than number of people giving bank exam in May. If graduate 

and postgraduate both giving banking exam.

प्रश्न 1- जनवरी में बैंक परीक्षा दनेे वाले व्यक्तियों की संख्या, मई में बैंक परीक्षा दनेे वाले व्यक्तियों 

की संख्या से लगभग  क्तकतने प्रक्ततशत अक्तिक ह?ैयक्तद स्नातक और स्नातकोत्तर दोनों बैंक्तकंग 

परीक्षा द ेरह ेहैं।
A. 78%

B. 94%

C. 69%

D. 54%

E. 46%
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MALE+ 
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RATIO OF 
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GRADUATE: 

GRADUATE

NO. OF MALE 

GIVING 

BANKING 

EXAM

JANUARY 6200 6:5 3500

FEBRUARY 4500 4:5 3400

MARCH 3400 7:5 4200

APRIL 2500 4:5 4000

MAY 4600 3:4 4200





Question 2- If 2100 graduate males giving banking exam in 

May then what was the number of graduate females who are 

giving banking exam in May?

यक्तद मई में बैंक्तकंग परीक्षा दनेे वाले 2100 स्नातक परुुष हैं, तो मई में बैंक्तकंग 

परीक्षा दनेे वाली स्नातक मक्तहलाओ ंकी संख्या याया  ी?

A. 3000

B. 4000

C. 2500

D. 4500

E. None of these
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JANUARY 6200 6:5 3500

FEBRUARY 4500 4:5 3400

MARCH 3400 7:5 4200

APRIL 2500 4:5 4000

MAY 4600 3:4 4200
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Question 3- What the ratio between the total number of 

graduate people in march (male + female) and the total 

number of postgraduate people February?

प्रश्न 3- मार्च में स्नातक लोगों की कुल संख्या (परुुष + मक्तहला) और 

फरवरी में स्नातकोत्तर लोगों की कुल संख्या के बीर् का अनपुात याया ह?ै

A. 12:13

B. 13:14

C. 17:19

D. 17:18

E. None of these

MONTH TOTAL NO. 

OF 

GRADUATE 

MALE+ 

FEMALE

RATIO OF 

POST 

GRADUATE: 

GRADUATE

NO. OF MALE 

GIVING 

BANKING 

EXAM

JANUARY 6200 6:5 3500

FEBRUARY 4500 4:5 3400

MARCH 3400 7:5 4200

APRIL 2500 4:5 4000

MAY 4600 3:4 4200





Question 4- Find the average number of post graduate peole

giving banking exam in March and April.

प्रश्न 4- मार्च और अपै्रल में बैंक्तकंग परीक्षा दनेे वाले स्नातकोत्तर छात्रों की 

औसत संख्या ज्ञात कीक्तजए।

A. 2280

B. 3380

C. 4480

D. 2480

E. None of these
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OF 

GRADUATE 

MALE+ 

FEMALE

RATIO OF 

POST 

GRADUATE: 

GRADUATE

NO. OF MALE 
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JANUARY 6200 6:5 3500

FEBRUARY 4500 4:5 3400

MARCH 3400 7:5 4200

APRIL 2500 4:5 4000

MAY 4600 3:4 4200 https://t.me/mathbytarunsirmepl





Question 5- The average weight of few person in a group is 

43 Kg. If 4 new person are with total weight 160 Kg are 

admitted then average weight becomes 42.5 Kg. Find total 

number of person in the group.

प्रश्न 5- एक समहू में कुछ व्यक्तियों का औसत वजन 43 क्तकग्रा ह।ै यक्तद 160 

क्तकग्रा के कुल भार वाले 4 नए व्यक्तियों को भती क्तकया जाता ह ैतो औसत 

वजन 42.5 क्तकग्रा हो जाता ह।ै समहू में व्यक्तियों की कुल संख्या ज्ञात

कीक्तजये। A. 20

B. 24

C. 30

D. 34

E. None of these
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Question 6- 1024, 256, 64, 15, 4, 1

A. 4

B. 1

C. 64

D. 15

E. 256
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Question 7- 800, 200, 100, 100, 200, 800, 1500

A. 4

B. 1

C. 64

D. 15

E. 256
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Question 8- 78, 237.5, 1193, 8448.5, 75236, 827607.5 

A. 78

B. 1193

C. 827607.5

D. 8448.5

E. 75236
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Question 9- A box contains 5 red, 3 green and 2 blue balls. 

Three balls are picked up randomly. What is the probability 

that none of the ball drawn is green?

प्रश्न 8- एक बॉयास में 5 लाल, 3 हरी और 2 नीली गेंदें हैं। तीन गेंदों को 

बेतरतीब ढंग से उठाया जाता ह।ै इस बात की प्राक्तयकता याया ह ैक्तक खींर्ी

गई कोई भी गेंद हरी नहीं ह?ै

A. 3/25

B. 4/25

C. 7/24

D. 6/25

E. None of these
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Question 10- A box contains 4 red ball, 6 green and 8 

yellow balls. 3 balls are randomly drawn from the box. 

What is the probability that the balls are different?

प्रश्न 9- एक बॉयास में 4 लाल गेंद, 6 हरी और 8 पीली गेंदें हैं। बॉयास से 3 

गेंदों को यादृक्तछछक रूप से खींर्ा जाता ह।ै गेंदों के अलग-अलग होने की

प्राक्तयकता याया ह?ै

A. 4/11

B. 3/11

C. 2/17

D. 4/17

E. None of these

https://t.me/mathbytarunsirmepl



Question 11- 𝑝2 - 8√3𝑝+ 45 = 0

𝑞2- 10√2 𝑞 + 32 = 0 

A. p> q

B. p≥ q

C. p< q

D. p≤ q

E. p = q or the relation between p 

and q can't be determined
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Question 12- 8𝑝2 - 6𝑝 - 35 = 0

4𝑞2 + 28𝑞 + 49 = 0 

A. p> q

B. p≥ q

C. p< q

D. p≤ q

E. p = q or the relation between p 

and q can't be determined
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Question 13- S is a Manager of the company and under him three 

team leaders A,T and Q work, each team leader has five members 

each and average sales by the team of A, T and Q is 134, 144 and 

96 respectively, the avg sales include the sales done by team 

leaders also ,if the average target sales for the month is 126, how 

much sales Satish have to do to reach the target.

प्रश्न 12- S कंपनी का प्रबंिक ह ैऔर उसके अिीन तीन टीम लीडर A, T और Q 

काम करते हैं प्रत्येक टीम लीडर के पास 5 सदस्य हैं और A, T और Q की टीम 

द्वारा औसत क्तबक्री क्रमशः 134, 144 और 96 ह,ै औसत क्तबक्री में टीम लीडर द्वारा 

की गई क्तबक्री भी शाक्तमल ह,ै यक्तद महीने के क्तलए औसत लक्ष्य क्तबक्री 126 ह,ै  

लक्ष्य तक पह रं्ने के क्तलए S को क्तकतनी क्तबक्री करनी होगी।

A. 100

B. 150

C. 200

D. 300

E. None of these
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Question 14- Out of total monthly salary of P spends 30% 

of his monthly salary on travel and 15 % on food expenses. 

35% of the remaining monthly salary for shopping and 

while the remaining salary is saved which is equal to Rs. 

28600, if his salary is increased by 10% but expense 

remains same how much money will he save monthly.

प्रश्न 13- P के कुल माक्तसक वेतन में से P अपने माक्तसक वेतन का 30% 

यात्रा पर और 15% भोजन व्यय पर खर्च करता ह।ै खरीदारी के क्तलए शेष 

माक्तसक वेतन का 35% और जबक्तक शेष वेतन बर्ाया जाता ह ैजो 

28600 रुपये के बराबर ह,ै यक्तद उसके वेतन में 10% की वकृ्ति होती ह ै

लेक्तकन व्यय समान रहता ह,ै तो वह माक्तसक क्तकतना पैसा बर्ाएगा?

A. Rs 26600

B. Rs 36600

C. Rs 46600

D. Rs 34600

E. None of these
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Question 15- A and B start at the same time with speeds of 

60 km/hr and 40 km/hr respectively. If in covering the 

journey A takes 15 minutes longer than B, the total 

distance of the journey is

प्रश्न 14- A और B क्रमशः 60 क्तकमी/घटंा और 40 क्तकमी/घटंा की गक्तत से 

एक ही समय पर र्लना शरुू करते हैं। यक्तद यात्रा को तय करने में A, B से 

15 क्तमनट अक्तिक लेता ह,ै तो यात्रा की कुल दरूी याया ह?ै

A. 40 km

B. 50 km

C. 30 km

D. 20 km

E. None of these
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